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lim e — 1 - lim [?7]
z—0 [ In(1 + ) r—0

[IN(1 + 2)][2e27] — [e?* — 1][1/(1 + x)]
(a) [(In(1 + 2)]2

2€2x

(b) 1/(1+ 2)

(c)I'Ho6pital does not apply.

(d)none of the above
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T T—r 00
— COSx
(a) ==
COSx
(b) <

(c)I'Hopital does not apply.

(d)none of the above
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R v > ™
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(e)(1) — (z)(e”)

(a) lim_ T
(b);JEEO(JO(exl;;fem)(l)
(C):Jﬁgo(ex)(l)_;gi)(xex_l)

(d) none of the above
Correct answer:
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€ZT
, e! — 1 —x
Iim = 77

z—0 :182

(a) o0

(b) lim &1

x—0

(c) DNE

(d) none of the above
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R v % ™
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im < T — |im & — 77
x—0 2 "H2x—>0 2z
et
(@) lim >
_ [22][e*] — [e* — 1][2]
(b) alsino 42
(c) DNE

(d) none of the above
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(a) o<
OF

(c) DNE

(d) none of the above
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(a) o0

(b) lim &1

x—0

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v > ™
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lim = 77
z—0 :U3
(a) oo
et — 1
1M
(b) z—0 3332

(c) DNE

(d) none of the above
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lim = 77
z—0 :U4
(a) oo
et —1
1M
(b) t—0 413

(c) DNE

(d) none of the above
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, et —x—1
lim = 77

z—0 :15‘4

(a) 0
el — 1

(b) Iim 1.3

x—0

(c) DNE

(d) none of the above
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(a) |

(b) oo

z—01

(c) DNE

(d) none of the above
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—xz—1 et -1 _ et
= |im =??

(b) oo

(c) DNE

(d) none of the above
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1

arctan’ =

14+( o )2
1 (d/dx)(arctane®) = 77
SR O
(b) (arcsec?e®)(e?®)
TGO

(d) none of the above
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(d/dx)(e™=7)

(a) €—2x
(b)e™?

(c) 2e2%

(d) none of the above
0% 0% 0% 0%

Correct answer: —Qe v |4 r=uErEEEE
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7 [csc O]

(a) — {csc2 9} [9]

(b) — [csc O] [cot O]

(c) — [csc O] [cot 0] [9}

(d) none of the above
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— [Ia (:cz —+ 4 — 1)]

(a) la(2z+4)

2x + 4
(b) 2+ 4x — 1

(©) |la(a® + 4z — 1)| [22 + 4]

(d) none of the above
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% [Ia ((:c2 + 4 — 1)1/3)]

2r + 4
(a) 3 224401
4 \1/3

(b)( 2—|-433—1)

(C) § (a:22—|£—CZ—L|:c4— 1)_2/3

(d) none of the above
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(@) (d/dz)(In|f(z)])
(0) [f'(@)]/1f ()]

Principle of log diff:

(€) [f (@)]l(d/dx)(In | f(z)])]

(d) none of the above

fl(z) =77
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T p2)r1 a 72 d z
() a(1 + 22771 |2 (14 22)| (1 442y

(b) z(22)7 1

(©) [(1 +2)7| [% (2In (14 "“Uz))}

(d) none of the above
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INn
In 10

l0g10(z) =

d
— [lo = 77
da;[ 910($)]$>O

1/x
(@) 1710
1

(b) z(In 10)
(c) Inx

1/10

(d) none of the above
0% 0% 0% 0%
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d
— [zsinz 4+ 4cosx] = 77
dx

(@) (1)(cosz) + (0)(—sinx)

(b)sinz +xcosx —4sinx

(C) xcosx — 4sinx

(d) none of the above
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T or F:
>0 on (2,3)
—  fincr. on (2,3)

(a)[True

(b) False
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% (In8)(sin3)] = 77

(a) O

(b) (1/8)(sin3) 4+ (In8)(cos 3)
(c) (1/8)(cos3)

(d) none of the above
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% [((In5)x] = 77

()0
(b) z/5

(c)Inb

(d) none of the above
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